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Booklet Code;11

AAE ~1 (E)
ASSISTANT ACCOUNTS OFFICER (CIVIL) EXAMINATION, 2017

DECEMBER, 2017

PRECIS AND DRAFT

Time Alflowed : 3 Hours | ‘ : Maximum Marks : 100

Note :1.While evaluating the question on precis, the candidates would be evaluated for their

SN

o0 ~l

understandlng and ability to express the same in short sentences using simple words. He
would not be expected to reproduce the passage selectively.

. This question paper contains 7 questions and 3 pages.
. All the questions are compulsory.
. Candidates should write the Booklet Code No.of this question paper on their answersheet in

the space provided.

. In the table provided on the front cover page of the answer book, indicate the page number of

the answer book where answer to each question or part thereof is written.

. Do not use different pens/ink for answering questions. Doing so may render the answer

script invalid.

. Strike off all blank pages/space in the answer books.
. In case of variation between English & Hindiversions, English version will be treated as correct.

1. Write a précis of the following passage in about 1/3 of its length and give a suitable fitle.

[26 marks]

One of the major problems of India is unemployment. Unemployment means the state of

being without any opportunity of earning one's livelihood. The abnormal rise in population has
intensified the problem of unemployment in India. Since independence the population of India has
increased by threes times its total. More than one-third of the total population still lives below the
poverty line. That is why the problem of employment has been getting more and more acute every
year.

Some of the major types of unemployment in the country are !

1.

aae-~1

Open Unemployment:
Open unemployment is a situation where in a large section of the labour force does not get a
job that may yield them regular income. This type of unemployment can be seen and counted

in terms of the number of unemployed persons.
Seasonal Unemployment:

It is unemployment that occurs during certain seasons of the year. In some industries and

~occupations like agriculture, holiday resorts, ice factories etc., production activities take place

only in some seasons. So they offer employment for only a certain period of time in a year.
People engaged in such type of activities may remain unemployed during the off-season.

Educated Unemployment:

‘Among the educated people, apart from open unemployment, many. are underemployed

because their qualification does not match the job. Faulty education system, mass output,
preference for white collar jobs, lack of employable skills and dwindling formal salaried jobs
are mainly responsible for unemployment among educated youths in India.
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4. Technological Unemployment ; ‘
It is the resuit of certain changes in the techniques of production which may not warrant much
labour. Modern technology being capital intensive requires less labourers and contributes to
this kind of unemployment.

Some of the reasons for unemployment are :

(a) Population explosion;,

(b) The industrial scenario in India is still slow to flourish.
{c) Lack of vocational and technical education.

[
(d) People from rural areas have developed a tendency to migrate to the cities for office jobs.

They find little interest in self-employment schemes. ‘ :

(e) Due to the lack of practical knowledge, thousands of graduates, post graduates, qualified
engineers remain idle after com pleting their education.

(f) Some people have a weakness for white-collared jobs: They prefer the security of working as
clerks on small salary. They are against joining business that requires them to put some capital
at risk. The uncertainties of business frighten them.

The solution for unemployment problem in india are : -

1. The villages should become self-sufficient in their economy so that the villagers would not run
to the cities in search of jobs. The village and cottage industry should be developed. This
would ensure that the large-cities are not overcrowded with huge population. It would help

© maintain a balance between the job/vacancy and the job seekers.

- 2. Rural people should be taught better methods of agriculture. The cultivators can earn more by
increasing the quantity and quality of crops. This can be done by implementing better irrigation
methods, high quality seeds, etc.

3. The system of present education should also be changed radically. instead of giving only
theoretical education the students shoutd be given vocational training or given industrial
experience, so that they can start some work after they finish their education. These institutes
prepare a student with skill and knowledge for a particular trade. There is growing demandfor
skilled people in various industries. ' -

4. The country should promote industrialization so that more job opportunities can be created for

the workers. The focus should be on labour intensive industries that employ thousands of
man-powers of varied skills.

5. Loan facilities should be extended among the unemployed youths so that they may set up
small industries. : '

6. Last, but not the least, to solve the problem of unemployment in [ndia, the growth of population

must be checked through various measures.
&
Conclusion

We should keep in mind that self-help is the best help. We must admit the bitter fact that no
government can provide employment to all the unemployed youths. More government measures
cannot solve such an enormous problem. The biggest contribution by government would be to
adopt measures fo create opportunities for self-employment, ' (722 words)

- Answer the following questions on the basis of the passage above within 50 words each:
: [6x3=15 marks]

(i} What is unemployment? Name 2 types of unemployment?

(i) Give 4 reasons for unemployment in the country?

(ili) Give 3 sofutions to get rid of unemployment in the country.

aae-1
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3. Draftan OMto be issued by Director (Co-ordination), Department of Expenditure, after due approval

of Secretary (Expenditure) to all Secretaries_ to Government of India, regarding economy in use of
paper and digitisation of official documents wherever possible. [20 marks]

4. "How far will making Aadhar mandatory ensure welfare schemes reaching to the needy and curb

corruption?’ Comment in approximately 150 words. [256 marks]
5. Complete the following sentences with appropriate prepositions: [1x5=5 marks]
(i) Every citizen should abide _. the laws of his country.
(i) He goes School by bus.
(i)} My friend has been living in Delhi 2 years.
(iv) While riding, he fell the horse and got hurt.
(v) | have been waiting for Radha 7 o' clock.
6. Use appropriate form of the verbs given within the brackets : | [1x5=8 marks]
(M a letter now. {write)
(i) Ourbus at 7.30 AM yesterday. (arrive)
(i) The sun in the East. (rise) '
(iv) He to get some milk. (go) .
(v) She chocolate every day. (eat)
7. Do as directed in the bracket: [1x5=5 marks]

(i} Leaf (give the plural form).

(i) Some boys were helping the wounded man (Change into passive voice).
(iy I1haveno____~ motive in offering you help (Use adjective).

(iv} High {Opposite).

(v} Awritten statement on oath (Give one word).
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